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MARK SCHEME - GCSE MODERN HEBREW - WRITING - SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk
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Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Foundation Tier

Marks will be allocated in the following way at Foundation Tier:

Communication | Content | Quality of | Conveying Application of Total
language key grammatical
messages knowledge of
language and
structures
Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50
Question 01

For this question, students are required to write four sentences. Each sentence is marked according to
the following criteria. The maximum mark is 8.

[8 marks]
Mark Communication
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

The following indicative content is an example of the responses that students may give to this question.

2 marks 1 mark 0 marks
— NNIN NN NNAVN 22 AN P12 - PMIN | [2 marks]
01.1 "o
AP
01.2 .MPY VYD OWIN ON . DN ON DY | [2 marks]
013 . TP OND ¥ INNVUN DY . P9 DND N> | [2 marks]
014 ND2D T AW O NP2AD T TN 12 | [2 marks]
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Question 02

For this question there are four compulsory bullet points, which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 40 words over the whole question. The number of words
is approximate and you must mark all work produced by the student.

[16 marks]
Content

Level | Marks | Response

5 9-10 | Afull coverage of the required information. Communication is clear.

A good coverage of the required information. Communication is mostly clear
but perhaps with occasional lapses.

A reasonable coverage of the required information. Communication is

3 56 generally clear but there are likely to be lapses.

5 3-4 A partial coverage of the required information. Communication is sometimes
clear but there are instances where messages are not conveyed.
A minimal coverage of the required information. Communication is often not

1 1-2 clear and there may be frequent instances where messages are not
conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level | Marks | Response

3 5.6 Uses a variety of appropriate vocabulary and grammatical structures.
Generally accurate.
Vocabulary and grammatical structures generally appropriate to the task,

2 3-4 . . .
with some attempt at variety. More accurate than inaccurate.

1 1-2 Vocabulary and structures used may be limited, repetitive or inappropriate.
There may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at
this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart from
that, the Content mark does not limit the mark for Quality of language.
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The following indicative content is an example of the response that students may give to this question.

N9 DTN ,DM2N DYV
DY D3 NN WNRYN TIND DN PIND 1IN
LD TYIIITIN PHN DMV NINY YHY NINAVNN
19725 PN NNOPN ,NPINDV DY ,NIN N YDV TN
2V AP IMAIN W ONA
V0N HOINY DD TN N
(40 words)
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Question 03

The translation is assessed for Conveying key messages (5 marks) and Application of grammatical
knowledge of language and structures (5 marks), as specified in the criteria below. The maximum mark
is 10. When awarding the marks, the student’s response across all five sentences should be considered
as a whole.

[10 marks]
Conveying key messages

Level | Marks | Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.

Application of grammatical knowledge of language and structures

Level | Marks | Response
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 ;I;]rilst’atlizr:.guage produced does not meet the standard required for Level 1 at

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Indicative content

The following indicative content is an example of a response which would be awarded full marks.

L . D9 /TN YoYU NNN
1 | My brother is nice. ' '

. .90 NY22 NXI2YY THPYMIN TNIY N
2 | I learn English and Hebrew at school. ' Y

. - PNV MONY ANIN NN
3 | I like to watch television. ' :

. . RO NV W OOV TN
4 | In my room there is a table and a chair. !

On Sunday morning | went to the park DOV D2NN DY PIRGD YNION ,IPI1A2 PYRI DN
with my friends.

Other reasonable alternative translations will also be accepted.

Exemplification of mark scheme

To exemplify the marking criteria for Conveying key messages and Application of grammatical
knowledge of language and structures, a range of exemplar student responses have been provided
below with a commentary.

Student 1

1 9 OW NN

2. 190 122 1IN DY NTMD NN

3. .MPOOPHL HONONY NIANIN NN

4 RDDYINNWY DY TN WO

5 JPINAD 1251 NN YV DIANN ,IPH122 PIYNRI D2

Conveying key messages = 5 marks
Application of grammatical knowledge of language and structures = 5 marks

All key messages are conveyed. Despite the omission of particles and the misspellings of ‘English’ and
‘television’, the student displays a very good knowledge of vocabulary and the response is highly
accurate.
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Student 2

1. .0 OHY NN

2. 9901 NY22 NV WDIPN TINOY NN
3. VMYV NMINIY NN

4. RDMDY N W OOV TN

5. YV DN DY PINY TOIN NN PYNI DN

Conveying key messages = 4 marks
Application of grammatical knowledge of language and structures = 3 marks

Nearly all key messages are conveyed (using the infinitive instead of present tense, wrong tense with'’
‘went’ and omission of ‘like”). The response is not generally accurate given the use of an English word,
omissions and an inaccurate adjective. However, it is more accurate than inaccurate.

Student 3

.19 NN
190 M TIYMINOD W

PVNOV ANN NN

RO N W

JPINGD 79N DN NN P NYRIA

aobrowbdE

Conveying key messages = 3 marks
Application of grammatical knowledge of language and structures = 2 marks

Most key messages are conveyed (no verb in second sentence, no infinitive in third sentence and wrong
tense in fifth sentence, but ideas are communicated). Messages in most sentences communicate key
information. The response is generally inaccurate with limited knowledge of vocabulary and structures.

Student 4

1. DN DD D W

2. 990 1522 N2 ODIN IN
3. PPMHYL W

4, ...

5. JPINGD NO5Y AN

Conveying key messages = 2 marks
Application of grammatical knowledge of language and structures = 2 marks

Some key messages are conveyed. The first two sentences convey key messages despite the omission
of the verb in the second one. The other two sentences only convey some of the key messages. Use of
infinitive instead of past tense in last sentence. Again, the response is generally inaccurate with limited
knowledge of vocabulary and structures.
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Student 5

JIN NN

990 1A YN
PPNYL NNY
AN

JPINS DM2N

agbhowbdE

Conveying key messages = 1 mark
Application of grammatical knowledge of language and structures = 1 mark

Few key messages are conveyed. The response is highly inaccurate and demonstrates a very limited
knowledge of vocabulary and structures — inaccurate or omitted verbs, no particles and unknown key
vocabulary.

10
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Question 04

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The

student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

Content

[16 marks]

Level

Marks

Response

5

9-10

A very good response covering all aspects of the task. Communication is
clear and a lot of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is
mostly clear but perhaps with occasional lapses. Quite a lot of information
is conveyed. Opinions are expressed.

5-6

A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down.
Little information is conveyed. An opinion is expressed.

1-2

A limited response covering some aspects of the task. Communication is
often not clear and there may be frequent instances where messages
break down. Very little information is conveyed. There may be no
opinions expressed.

The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the

other criteria are met.

11
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Quality of language

Level | Marks | Response

A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more serious
errors may occur, particularly in complex structures and sentences, but
the intended meaning is nearly always clear. The style and register are
appropriate.

Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to at
least two different time frames, although these may not always be

2 3-4 successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always
be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to
the needs of the task. Sentences are mainly short and simple or may not

1 1-2 be properly constructed. There may be frequent major and minor errors.
Little or no awareness of style and register.
0 0 The language produced does not meet the standard required for Level 1
at this tier.
Notes

(@ A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart
from that, the Content mark does not limit the mark for Quality of language.

12
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The following indicative content is an example of the response that students may give to this question. It
demonstrates a balanced coverage of the compulsory bullet points.

Either | Question
04.1

This is a possible response (indicative content):
,0MP> DONNP
21T DOIN TN OY,07TINY WIN DY 9901 M. PTNHD PAONHD )1DXN 990 Md¥2a NTMD MIN
SNRoN 535 2AWNNDY DPNIVPINR MM DY MNNID MNIIN VNI DIINI NI ,MTIYN
,D2¥0 AN ONYY PIND DINND IV 190N NP2 NYWITN PNV VINIWN PNYTD
D% 0N DYXTMD O TNRYNN TN
TVIN DY DT NNIN,PYADN KD MY PNYTY W2V DNAD MWV NY ¥ 190N NdIA2
2XMTI : 195 OPNNIIAP OPNYN INY PRYD NXITOINMT 1IN MDOYAY IT PPaDN PN)
LNND PNNRA SONTN
AIVN NN OITPUY DTN SNTNHY I, TNPNI NIXID 7T ,71PD792 PNINKD NYYN
.NVYDINND TINDY T INKY DY 1LY NXIN,M1NIAN NN
(99 words)

[16 marks]

or Question
04.2

This is a possible response (indicative content):

,0>72N DYV

TIND 2NN DOY9 2N OHY MO AT NN MDD 2AMIN NN N DY) PN DIY 990Y NN NN
LNADY AVIN NN .PINGL DN DY DX NTI PHYNI N2 NNV MIX WAV U .ONID
SPONY NND WD WY M) NI XTIV DWN 20 920 D W MINYIAN DY NNV YD Ay
D12NN DY dNION ,HAYY NAYN 1D AN MDY ANIN OIN DD, TIND PINNNY DN )T
PNV VIO MAXY NNMAN ON DIIANT NN OITNIN LTI INN .DXINTD PHYNI MANY ov
LDDMAN 3T DY NYNNY AN DY TON,NIN NPYNI DY .3

(93 words)

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met. To exemplify this, the following alternative indicative content is provided.

Either | Question
01.1

This is a possible response (indicative content):

DYTHN) 12 DMINN 1D, TNIHNA 1V XDV 190N NP2 ,PNYTY .IMIDNN NN NN 19D M2 7MY NN
NV DAMNY

97N VN OYIN,D2AVNI TN ,I9TTI DIIN TN : 1N DXIVN ONPNN 190N NP2 ¥ ,qDN2
299N NPYOIN

MNAY NXYT NN . OMVYN VDA NPNN YHNYND NINI NN 190N N22 O 2IWN TIND VNOD
T2 OXTHVN NN KXY NIWN MIN MDPYAY NAWIN NN YD WYL DNAD-1IOY MY Ty
™MAYY, MY N 90 NN INIWH NN TRON NNYID PRI NN VAW 1Y MY NYYa
NOYNA OYTIHN MINN IZY NPIDNN IV NIN DY 190N

TIAYY NINND NN, DN YINN

(95 words)

[16 marks]

13
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or

Question
01.2

This is a possible response (indicative content):

NPNYN MIN,NIYN 91D .0190 X)IPDY NP DYPND NIAMIN NN N AT OD v
LYY AW OMVIYY DXNTON NXAP NN NTMIN MIN IV M2 DY 71D 571D N¥IAPA
709N YNNY NAYIN NN OYIIN DY NIV DN NI2NN DY PTONINI PRV NINIY dNOON
) 991 NP 9905 NYIDY NN .MV NIXY D TN THNIM OXINND NIYD NAMN NN ,NAIV)
STIO NNV NYT MNNI NN

NPNN2 YTN NN MINID YT, NMPN 199199 MIAN OY dNION ,PNINKD WAVN N2
LOMNADN 199N TP NYWY TN 1IN, T INN .O>THaN

PV MINN NMINID T PYN 197190 YOI ,XIN WAV

(94 words)

[16 marks]

14
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Higher Tier

Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
language | language key grammatical
messages | knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60
Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content

Level | Marks | Response

A very good response covering all aspects of the task. Communication is

5 9-10 clear and a lot of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is
4 7-8 mostly clear but perhaps with occasional lapses. Quite a lot of information
is conveyed. Opinions are expressed.

A reasonable response covering almost all aspects of the task.
3 5-6 Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

A basic response covering some aspects of the task. Communication is
2 3-4 sometimes clear but there are instances where messages break down.
Little information is conveyed. An opinion is expressed.

A limited response covering some aspects of the task. Communication is
often not clear and there may be frequent instances where messages

1 12 break down. Very little information is conveyed. There may be no
opinions expressed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.

15



MARK SCHEME - GCSE MODERN HEBREW - WRITING - SPECIMEN

Quality of language

Level | Marks | Response

A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more serious
errors may occur, particularly in complex structures and sentences, but
the intended meaning is nearly always clear. The style and register are
appropriate.

Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to at
least two different time frames, although these may not always be

2 3-4 successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always
be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to
the needs of the task. Sentences are mainly short and simple or may not

1 1-2 be properly constructed. There may be frequent major and minor errors.
Little or no awareness of style and register.
0 0 The language produced does not meet the standard required for Level 1
at this tier.
Notes

(@ A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart
from that, the Content mark does not limit the mark for Quality of language.

16
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The following indicative content is an example of the response that students may give to this question. It
demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
01.1

This is a possible response (indicative content):

,0MP> DONNP
97N DY IV YTN DY 9901 12 . )1TNT 2990 NN PNNNI NN 190 122 NTMY DN
VNN OMIVPON MNY DY NINNI MNPIN VNI OINY NMIVD ,MTIVN D11 HIIN
TN 9o

,D¥10 ANV DNV PIND DINND IV 190N NP2 NYWITN PNV VINIWN PNYTD
D% 0N DT DY TNRYNN TN

NNIYY .DMNYYN NX 1IN YD DPY DX DXNNN Y ,DO¥TN NPPVNNN T NIAMN NN
LDOVINOY MIISPN RD DN ONYTY 7D ,071901 MINK TINDY NANIN KXY N, NINT

AIVN NDNOITPUY DTN SNTNHY I, TNPNI NIXID 7PN ,71PD7I2 PNINKD NYWUN
OYDININA TN ,TD INNY DDA D1V NNIN,NPNAN MINKN

(97 words)

[16 marks]

Question
01.2

This is a possible response (indicative content):

,012N DYV

TIND 2NINY DP9 IN OHW ONIN ITN NN MDY ANIN NIN D DY) TR DIY 190D NN AN
VDY AWIN NN .PIRIT DI2N DY 2HNTI PRYNI N1I37122 MY NIN WY Y .DND
SPOM NN YWY ¥ M) RIN YT IDY DWN 210 920 %D W .NMINIAN DY DYDY ANy
012NN BOY YNIYN YV WNAWN 9IDI NN MY AMIN OIN 129, TIND PPN 05N 2T
PNYY KDL MAXD NNMIAN ON DIIANN NN OITINTI T INK .JXNTI PHWNI MAXY ov
.DDION T DY NYNNY »aAN DY TON,NXIN PYNRI O .13

(93 words)

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met. To exemplify this, the following alternative indicative content is provided.

Either

Question
01.1

This is a possible response (indicative content):

D>19N) 12 D NNIN 2D, TNPHI IV IV 190N NV PNYTY .TPIIN PNINA NN 790 122 TOD N
SMYY DIMNY

VNIV YWY PNYTY WTN TPN OY D11 VNI ODIN VY YW 1,990 N33 VN THNIDY TN MIN
MV TYHNI I MDA PIDYY YT 13T 220N PR DI TNHINY ¥, TIND DWW

199NNY DNY NINY D) NN ONYTIY DNNH 1OND DY PHRIND NINY VNID YW MONNYN
DNYVI

™A 5Y ,1I2Y2, 1Y 990 NIN IONIVND NN THNION NNdID PHRIN NN WY NAD NPy NI
OYNA OYXTIHN MINN ITY NPIDNN DY XNIN YW 190N

TI2YY NINNID NNIN DN YINN

(95 words)

[16 marks]

17
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or

Question
01.2

This is a possible response (indicative content):

NPNYN MIN,NIYN 91D .0190 X)IPDY NP DYPND NIAMIN NN N AT OD v
LYY AW OMVIYY DXNTON NXAP NN NTMIN MIN IV M2 DY 71D 571D N¥IAPA
709N YNNY NAYIN NN OYIIN DY NIV DN NI2NN DY PTONINI PRV NINIY dNOON
) 991 NP 9905 NYIDY NN .MMV NIXY D TN THNIM OXINND NIYD NAMN NN ,NAIV)
STIO NNV NYT MNNI NN

NPNN2 YTN NN MINID YT, NMPN 199199 MIAN OY dNION ,PNINKD WAVN N2
200N 127D TIPXI NV TN NION, T INN .O>THAN

NIV MIND NINID PYY YOI ,NIN NIV

(91 words)

[16 marks]

18
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]

Content

Level | Marks | Response

An excellent response which is fully relevant and detailed, conveying a
5 13-15 | lot of information. Communication is clear with little or no ambiguity.
Opinions are expressed and justified.

A very good response which is almost always relevant and which
4 10-12 | conveys a lot of information. Communication is mostly clear but there are
a few ambiguities. Opinions are expressed and justified.

A good response which is generally relevant with quite a lot of
3 7-9 information conveyed. Communication is usually clear but there are some
ambiguities. Opinions are expressed and may be justified.

A reasonable response with some relevant information conveyed.
2 4-6 Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1 1-3 Communication may not be clear and there are instances where
messages break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.

19



MARK SCHEME - GCSE MODERN HEBREW - WRITING - SPECIMEN

Range of language

Level | Marks | Response

Very good variety of appropriate vocabulary and structures. More
4 10-12 | complex sentences are handled with confidence, producing a fluent piece
of coherent writing. The style and register are appropriate.

Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing
a mainly fluent piece of coherent writing with occasional lapses. The style
and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences
2 4-6 are attempted, using appropriate linking words, often successfully. The
style and register may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short

1 1-3 and simple. Little or no awareness of style and register.
0 0 The range of language produced does not meet the standard required for
Level 1 at this tier.
Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language

Accuracy

Level | Marks | Response

Accurate, although there may be a few errors especially in attempts at

5 5 )
more complex structures. Verbs and tense formations are secure.

Generally accurate. Some minor errors. Occasional major errors, usually
4 4 in attempts at more complex structures. Verbs and tense formations are
nearly always correct.

Reasonably accurate. There are likely to be minor errors and there may
3 3 be some major errors, not only in complex structures. Verb and tense
formations are usually correct.

More accurate than inaccurate. The intended meaning is generally clear.
Verb and tense formations are sometimes correct.

There may be major errors and frequent minor ones, and the intended
1 1 meaning is not always clear. There is only limited success with verb and
tense formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes
(&) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from that,
the Content mark does not limit the mark for Accuracy.
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The following indicative content is an example of the response that students may give to this question.

It demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
02.1

This is a possible response (indicative content):
,DP> DRNP
19T 79 95 9PV 9D 20 ONXN .TPYIIND PNV ) N

.12 DIMNY D229 NN YWY NIV NTNND Y N PYWIND ONYTD

119991 PIIN IO DNVDIN DINN Y1 YN 197D, NNNNI MIIN DXANIN DN ON
D251 DTN DMIPN HY NOIVN YTINT,ININTY ,92YY AW .D0IMIYND DINNOTIN
.D»N NN

9N) DY VYN IN OMNONANT DIDITHN DIPIRINND MIND DI YAV MANMNKY,NIN G0N NN
PNNI MOPA YN IWAN ¥, INPA VN NINY ONYTY NN PYA TPNNNN NASIN .ITVINN
Ru)p)ally)

MDAND PYN 12792, NN ITNANNN PITNDA OMINNY MNION D) ¥ PIYND
DIPT PNYTY .IYIN PP 257 O93 ¥ TH 1N ¥ DY), MAINIA DIVIN N2 ¥ .I9VT)
X9 MY XN PYD 10901 PINRD

NOYN NADN DX TIND IV N2 NXIAP SNNPN )OYY NNOVA N2A0N MION NN 19D ¥TD
009921292, 0MY MYPA TNNY IWIAN XD DXIVIND D¥PADNN DINDY NPIIM DMIN2
Bapeaid|

.TP15N2 NYOIN DIPNA DMINN DY 990N MY 21597 YNVONN ,qON2

.DONIN MNTY DLW DY NNYD NPINN N0 W PNYTH

(158 words)
[32 marks]

Question
02.2

This is a possible response (indicative content):
,0MP DRNP
N2 DN NN DY NIYY TIND W, DN DIV 0PN NPNY 1T

NN DY DOWHNIN DN NOY MINIIIN 28D DY M2 MYV NNIND YWY ,DMININ OINIIN
ININD
D2 DN MDD YWY MNYD MNP M NYINN MINAD DI9ND TN, NPT

9Y9ND ONTI XD )95 .Ma) DT XN N0 119D MONNTY MNYND DIND NTIDY 11> NIION
1IN O»IWH P10 191D ,9012 DIV 121D NN DXDDN DN D, NNV DIPNNN NN
.29 MYNnY 09N

211199K YW N9 NNV NPIND NYIY DN MINOIIAN DY DIWAVYNN DD DN

IN DNYYNN DIVIN .DMPNDN MMPNA JUYY NORY ,NNY NN 19101 D31 RN WY PNYTH
. 901D YT DINNNND MVYD PNYTY 07X DIMOYNRD 0NN

DMNN DY N2957 IN 191,701 T .NXI2 DN NN DPPY TIND N2IWN 1NN MY
.20 NYHIIND NI NN NMINIIY MNIIN

YNAVPN VIIND 31,190 .0NNNN YINNY DTNYND NIN NI OYN THINRD DNINN GON 127
T NN IND) Y202 RPNV ,AVIN MR .PINDT YNV VIAVN 91D NVPY NPPOINY LINNN
A TIND

(158 words)
[32 marks]
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However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at

least some coverage of both bullet points is evident, students will still have access to full marks where

the other criteria are met. To exemplify this, the following alternative indicative content is provided.

Either

or

Question
02.1

This is a possible response (indicative content):
.27 M2X01 N2 INY NNNY NI ,TIININ 2IYI NI NDITH DY NNT IVDNIN

DYNN DMNIPN OO TID? 19D YN PYA WY NI OINYTY DIVNN NN THX
1PN NN ANRYD TIVINX XD N2 TINDY DIIN TNYAY 7,120 NVIDIDNN DN

VTR0 DNNOTIN,PIVN NPIPN 19D 10D DN N3N NIMIPN NIN G0N NI
YNIP XN, MTYDN 12100 D) W .19 DIT) PIND DIVINNP OOIN , NNNINDY
LOMAD MM

DX NINANN XNV DXIVIND NPIDYN DNINNY DIPOY) DXTIVN NATN Py v
NINTY VAN PYN MINT2 .NWN NTYI NI NNNN,NPP N257,0°01IVIN ND
MAININIYEY HAN, D712 DTN DI DN MNYTN DN2D DY DXPXNY DI
LDMMNN DY N0 OINYON PN ,DMPI N

,NNINND,)99.1272070 MK NDY) NNV VN TPIN ¥ I 7I5Y NIVIN NN
NAYN NI ANV PPV ¥TI DXAVIN NN DY MDINN YNIDN) NMPYY AN YNIAnNd
5Y MNYY 112N NN NTTIVN NN ,QONI DY NNOYA DMINN 201D THN OO
VN MDIN DI NN NN 1901 N2 PPN

(151 words)

[32 marks]

Question
02.2

This is a possible response (indicative content):
,DONNPY DWWV
MY MDD N2 OMN NN DY NHYY TIND 23WN PNV

9Y9NY NN PNYTY 1Y N2 DN NNIND PN NI MINIAN DY NPaWN N1D) NIND
.DY990) DPNVN DMNAIN ,MHHND MP¥INN NNTIRD MMIN WYY DY 99

DMAON GND DXPIDN DITNNI NMVP M), 00N, 00T,V ,Iv1A ,NNPNTD
DY NINY MMMNN GND DIPADN DNYTY ,DNY DX PIYN NI DXIWNN

DXNIYNN DN DNV DIDYIN ON D ,0PA MPI NI NYIHIN DI DIDND NN
NNV M0 INYY IO MY DXPDN DN D DXIVN 20N NN .MDNND NYIND

DD 5D MYY MNNY NI 0P D»H MDD WY MND MNYD D) OXTD

NYTH .0 52 NINAD NYY INN TYNID 1IN MDY MYYD DINONN DINIII,qONA
YO 22 155, MNIAN DY NPHNYA VN TPIN IONN MDY INNY ¥ 0219
L1212 TN DY WD DY NNV DITAPN NNIN

TR NYTO TN, . WD MINMIA DY NPHYDY D) NIWN X2 OMN TN ONYTH
B Riap)

STIN VI YYD ,N1D22 MINYY dNHDON Yayw ava
(153 words)
[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum mark
is 12. When awarding the marks the student’s response across the passage should be considered as a
whole.

[12 marks]
Conveying key messages
Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level | Marks | Response

6 6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 _Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The 'Ian'guage produced does not meet the standard required for Level 1
at this tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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On Shabbat, I invited friends to my house. We ate tasty food and after the meal we sang songs. |
prefer meals with family and friends because it is more interesting. Next Sunday, | will visit my
grandfather and we will go to a museum in the town centre to see a new exhibition of paintings by
a famous artist.

Indicative content

The following indicative content is an example of a response which would be awarded full marks.

NNAYN DY NMIMIN GTYN NN DY NIY NNIRD MINKRI DYV X NION OOV 12D DN TN , NIV
N PIYN NTY 290, 092M

N HY NYTN DMPN NIIYN NIRID YT ,PYN 1570 PROTIND T2 NNINY MY NIDN NN IPIAN ,NIN PYRI 012
.00Man

Other reasonable alternative translations will also be accepted.
Exemplification of mark scheme
To exemplify the marking criteria for Conveying key messages and Application of grammatical

knowledge of language and structures, a range of exemplar student responses have been provided
below with a commentary.

Student 1

,0°72N) NNAYN DY MNTIX PTYNA NN .NPNRT NIY DNIRD MINNRY DYV IIIN NIIN .NIAYY NN DN NI
S NYITN DM NIMIYN NINID PYN 19902 PNXOND 9 DYW XID NN IPAN ,NIN PYNI DY AN PRYN 11D
.DDMNON N

Conveying key messages = 6 marks
Application of grammatical knowledge of language and structures = 6 marks

All key messages are conveyed. The only errors are ‘n»aiv,and the omission of ‘2’ in the last sentence.
It is therefore nearly faultless.

Student 2

,0°32N NNAYN DY MMIN PTYN NN .0XPY INIRD MINNY DYV N NIIN OOV 12D DIN YTINT NIV
N PRYN NTY NN
.DDM9N N HY NYTN DXIVY NDIYN MINID YT, Y2 PROTIND T2 NNINY IV XIDN NN IPANR, YN D2

Conveying key messages = 5 marks
Application of grammatical knowledge of language and structures = 4 marks

The message relating to the singing after the meal is not conveyed clearly and there is only a partial
message regarding where the museum is. Overall, therefore, nearly all key messages are conveyed.
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The inaccuracies, for example the omission of the verb "9v7 in the clause about singing , 72yn 1913,
are such that the response is generally, rather than highly accurate.

Student 3
NN, NYRD DV PNIYN NT,012N) NNAWN DY DITND PTYN NN DMWY DIYIIN NN OYY NI D20 W Nava
.DOMON PN HY DXYTN DIV MK PNNOTIND DN NID)

Conveying key messages = 4 marks
Application of grammatical knowledge of language and structures = 3 marks

Most key messages are conveyed. ‘| invited, tasty food, a meal, | will visit, in the town centre’ ‘new
exhibition’ are unclear or not communicated. A reasonable knowledge of vocabulary is demonstrated.
The response is more accurate than inaccurate despite the number of errors (eg. verb tenses, lack of
connectives, omissions).

Student 4
A2IYN NY,0512M) NNAYNI DY DI ANIN NN LTI INX DY) DIIN 1V DIDIIN NN . N22 012N D ¥ Nava
DYT) N HY DOWTN DMIPN MIXID NRITIND NIOD RID) NN )UK O»2

Conveying key messages = 3 marks
Application of grammatical knowledge of language and structures = 2 marks

Some key messages are conveyed as there are issues with ‘invited friends, ate tasty food, | prefer, | will
visit, town centre’. There is a limited knowledge of vocabulary and structures and there are errors in
every sentence, although these do not always affect the communication of required messages. The
piece is generally inaccurate.

Student 5

NN L|IYN DY DY N9 NT,D512M DN DY DIIN ANIN NN . DXPYI HIIN 20 DMWOIN WNIN DY 112 920 Nava
997 98 HY DOVTN MMV MINIY DINOTIND NIYH NIDY

Conveying key messages = 2 marks
Application of grammatical knowledge of language and structures = 2 marks

Few key messages are conveyed and there is a limited knowledge of vocabulary and structures. There
are omissions and many misspellings. The piece is generally inaccurate.

Student 6
INID .Y NOYY RADY NN NYKRIL .D2NY NNAYNI DY DIIN 2V ¥ .OXPY DY) DIINY NP2 D>12N NIvA
OO

Conveying key messages = 1 mark
Application of grammatical knowledge of language and structures = 1 mark

Very few messages are communicated - mainly in the first sentence and the eating with family and
friends idea. The response is highly inaccurate.
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